
Contact a representative about our existing USA Made items
 in Traditional, Strut Fittings and Spring Steel 



Washers

Fender
Minerallac Part Number Description

40709USJ 3/16 (#10) X 1 FENDER WASHER ZP

40715USJ 3/16 (#10) X 1-1/4 FENDER WASHER ZP

40720USJ 1/4 X 1 FENDER WASHER ZP

40725USJ 1/4 X 1-1/4 FENDER WASHER ZP  

40730USJ 1/4 X 1-1/2 FENDER WASHER ZP

40733USJ 1/4 X 2 FENDER WASHER ZP

40741USJ 3/8 X 1 FENDER WASHER ZP

40743USJ 3/8 X 1-1/4 FENDER WASHER ZP  

40745USJ 3/8 X 1-1/2 FENDER WASHER ZP

40747USJ 3/8 X 2 FENDER WASHER ZP

40750USJ 1/2 X 1-1/2 FENDER WASHER ZP

40755USJ 1/2 X 2 FENDER WASHER ZP

Flat
Minerallac Part Number Description

40315USJ #10 FLAT CUT WASHER ZP

40325USJ 1/4 FLAT CUT WASHER ZP        

40330USJ 5/16 FLAT CUT WASHER ZP

40335USJ 3/8 FLAT CUT WASHER ZINC

40337USJ 7/16 FLAT CUT WASHER ZP

40340USJ 1/2 FLAT CUT WASHERS ZINC

40345USJ 5/8 FLAT CUT WASHER ZP

40350USJ 3/4 FLAT CUT WASHER ZP

Lock
Minerallac Part Number Description

40525USJ 1/4 MED SPLIT LOCKWASHER ZP

40530USJ 5/16 MED SPLIT LOCKWASHER ZP

40535USJ 3/8 MED SPLIT LOCKWASHER ZP

40537USJ 7/16 MED SPLIT LOCKWASHERS ZP

40540USJ 1/2 MED SPLIT LOCKWASHER ZP

40545USJ 5/8 MED SPLIT LOCKWASHERS ZP

40550USJ 3/4 MED SPLIT LOCKWASHERS ZP

Nuts

Minerallac Part Number Description

40225USJ 1/4-20 GD5 HEX NUT ZP

40230USJ 5/16-18 GD5 HEX NUT ZP

40235USJ 3/8-16 GD5 HEX NUT ZP

40240USJ 1/2-13 GD5 HEX NUT ZP

40245USJ 5/8-11 GD5 HEX NUT ZP

Hex



Washers

Fender
Minerallac Part Number Description

40709USJ 3/16 (#10) X 1 FENDER WASHER ZP

40715USJ 3/16 (#10) X 1-1/4 FENDER WASHER ZP

40720USJ 1/4 X 1 FENDER WASHER ZP

40725USJ 1/4 X 1-1/4 FENDER WASHER ZP  

40730USJ 1/4 X 1-1/2 FENDER WASHER ZP

40733USJ 1/4 X 2 FENDER WASHER ZP

40741USJ 3/8 X 1 FENDER WASHER ZP

40743USJ 3/8 X 1-1/4 FENDER WASHER ZP  

40745USJ 3/8 X 1-1/2 FENDER WASHER ZP

40747USJ 3/8 X 2 FENDER WASHER ZP

40750USJ 1/2 X 1-1/2 FENDER WASHER ZP

40755USJ 1/2 X 2 FENDER WASHER ZP

Flat
Minerallac Part Number Description

40315USJ #10 FLAT CUT WASHER ZP

40325USJ 1/4 FLAT CUT WASHER ZP        

40330USJ 5/16 FLAT CUT WASHER ZP

40335USJ 3/8 FLAT CUT WASHER ZINC

40337USJ 7/16 FLAT CUT WASHER ZP

40340USJ 1/2 FLAT CUT WASHERS ZINC

40345USJ 5/8 FLAT CUT WASHER ZP

40350USJ 3/4 FLAT CUT WASHER ZP

Lock
Minerallac Part Number Description

40525USJ 1/4 MED SPLIT LOCKWASHER ZP

40530USJ 5/16 MED SPLIT LOCKWASHER ZP

40535USJ 3/8 MED SPLIT LOCKWASHER ZP

40537USJ 7/16 MED SPLIT LOCKWASHERS ZP

40540USJ 1/2 MED SPLIT LOCKWASHER ZP

40545USJ 5/8 MED SPLIT LOCKWASHERS ZP

40550USJ 3/4 MED SPLIT LOCKWASHERS ZP

Bolts

Hex Head
Minerallac Part Number Description

55009USJ 1/4-20 X 1/2 GD5 HEX HEAD BOLT USA

55013USJ 1/4-20 X 3/4 GD5 HEX HEAD BOLT USA

55017USJ 1/4-20 X 1 GD5 HEX HEAD BOLT USA

55021USJ 1/4-20 X 1-1/4 GD5 HEX HEAD BOLT USA

55025USJ 1/4-20 X 1-1/2 GD5 HEX HEAD BOLT USA

55029USJ 1/4-20 X 1-3/4 GD5 HEX HEAD BOLT USA

55033USJ 1/4-20 X 2 GD5 HEX HEAD BOLT USA

55037USJ 1/4-20 X 2-1/4 GD5 HEX HEAD BOLT USA

55041USJ 1/4-20 X 2-1/2 GD5 HEX HEAD BOLT USA

55045USJ 1/4-20 X 2-3/4 GD5 HEX HEAD BOLT USA

55049USJ 1/4-20 X 3 GD5 HEX HEAD BOLT USA

55209USJ 5/16-18 X 1/2 GD5 HEX HEAD BOLT USA

55213USJ 5/16-18 X 3/4 GD5 HEX HEAD BOLT USA

55217USJ 5/16-18 X 1 GD5 HEX HEAD BOLT USA

55221USJ 5/16-18 X 1-1/4 GD5 HEX HEAD BOLT USA

55225USJ 5/16-18 X 1-1/2 GD5 HEX HEAD BOLT USA

55229USJ 5/16-18 X 1-3/4 GD5 HEX HEAD BOLT USA

55233USJ 5/16-18 X 2 GD5 HEX HEAD BOLT USA

55237USJ 5/16-18 X 2-1/4 GD5 HEX HEAD BOLT USA

55241USJ 5/16-18 X 2-1/2 GD5 HEX HEAD BOLT USA

55243USJ 5/16-18 X 2-3/4 GD5 HEX HEAD BOLT USA

55249USJ 5/16-18 X 3 GD5 HEX HEAD BOLT USA

55409USJ 3/8-16 X 1/2 GD5 HEX HEAD BOLT USA

55413USJ 3/8-16 X 3/4 GD5 HEX HEAD BOLT USA

55417USJ 3/8-16 X 1 GD5 HEX HEAD BOLT USA

55421USJ 3/8-16 x 1-1/4 GD5 HEX HEAD BOLT USA

55425USJ 3/8-16 x 1-1/2 GD5 HEX HEAD BOLT USA

55429USJ 3/8-16 x 1-3/4 GD5 HEX HEAD BOLT USA

55433USJ 3/8-16 X 2 GD5 HEX HEAD BOLT USA

55437USJ 3/8-16 X 2-1/4 GD5 HEX HEAD BOLT USA

55441USJ 3/8-16 X 2-1/2 GD5 HEX HEAD BOLT USA

55445USJ 3/8-16 X 2-3/4 GD5 HEX HEAD BOLT USA

55449USJ 3/8-16 X 3 GD5 HEX HEAD BOLT USA

55451USJ 3/8-16 X 3-1/4 GD5 HEX HEAD BOLT USA  

Minerallac Part Number Description

40225USJ 1/4-20 GD5 HEX NUT ZP

40230USJ 5/16-18 GD5 HEX NUT ZP

40235USJ 3/8-16 GD5 HEX NUT ZP

40240USJ 1/2-13 GD5 HEX NUT ZP

40245USJ 5/8-11 GD5 HEX NUT ZP

Hex

Minerallac Part Number Description

59703US 1/4-20 x 3'

59702US 3/8-16 x 3'

59707US 5/16-18 x 3'

59709US 1/2-13 x 3'

59711US 5/8-11 x 3'

59704US 1/4-20 x 6'

59705US 5/16-18 x 6'

59706US 3/8-16 x 6'

59708US 1/2-13 x 6'

59710US 5/8-11 x 6'

Threaded Rods



Bolts
Hex Head

Minerallac Part Number Description

55457USJ 3/8-16 X 3-1/2 GD5 HEX HEAD BOLT USA

55461USJ 3/8-16 X 3-3/4 GD5 HEX HEAD BOLT USA 

55813USJ 1/2-13 X 3/4 GD5 HEX HEAD BOLT USA

55817USJ 1/2-13 X 1 GD5 HEX HEAD BOLT USA

55821USJ 1/2-13 X 1-1/4 GD5 HEX HEAD BOLT USA

55825USJ 1/2-13 X 1-1/2 GD5 HEX HEAD BOLT USA

55829USJ 1/2-13 x 1-3/4 GD5 HEX HEAD BOLT USA

55833USJ 1/2-13 X 2 GD5 HEX HEAD BOLT USA

55837USJ 1/2-13 X 2-1/4 GD5 HEX HEAD BOLT USA

55841USJ 1/2-13 X 2-1/2 GD5 HEX HEAD BOLT USA

55845USJ 1/2-13 X 2-3/4 GD5 HEX HEAD BOLT USA

55849USJ 1/2-13 X 3 GD5 HEX HEAD BOLT USA

55853USJ 1/2-13 X 3-1/4 GD5 HEX HEAD BOLT USA

55857USJ 1/2-13 X 3-1/2 GD5 HHCS ZP HEX HEAD BOLT USA

55851USJ 1/2-13 X 4 GD5 HHCS ZP HEX HEAD BOLT USA

56017USJ 5/8-11 X 1 GD5 HEX HEAD BOLT USA

56021USJ 5/8-11 X 1-1/4 GD5 HEX HEAD BOLT USA

56025USJ 5/8-11 X 1-1/2 GD5 HEX HEAD BOLT USA

56029USJ 5/8-11 X 1-3/4 GD5 HEX HEAD BOLT USA

56033USJ 5/8-11 X 2 GD5 HEX HEAD BOLT USA

56037USJ 5/8-11 X 2-1/4 GD5 HEX HEAD BOLT USA

56041USJ 5/8-11 X 2-1/2 GD5 HEX HEAD BOLT USA

56047USJ 5/8-11 X 2-3/4 GD5 HEX HEAD BOLT USA

56049USJ 5/8-11 X 3 GD5 HEX HEAD BOLT USA

Anchors

Minerallac Part Number Description

60120J 3/16 X 1-1/4 TAPCON HWH CONCRE

60136J 3/16 X 2-1/4 TAPCON HWH CONCRE

60144J 3/16 X 2-3/4 TAPCON HWH CONCRE

60152J 3/16 X 3-1/4 TAPCON HWH CONCRE

60320J 1/4 X 1-1/4 TAPCON HWH CONCRET

60328J 1/4 X 1-3/4 TAPCON HWH CONCRET

60336J 1/4 X 2-1/4 TAPCON HWH CONCRET

60344J 1/4 X 2-3/4 TAPCON HWH CONCRET

60352J 1/4 X 3-1/4 TAPCON HWH CONCRET

60364J 1/4 X 4 TAPCON HWH CONCRETE SC

60520J 3/16 X 1-1/4 TAPCON PFH CONCRE

60528J 3/16 X 1-3/4 TAPCON PFH CONCRE

60536J 3/16 X 2-1/4 TAPCON PFH CONCRE

60544J 3/16 X 2-3/4 TAPCON PFH CONCRE

60728J 1/4 X 1-3/4 TAPCON PFH CONCRET

60736J 1/4 X 2-1/4 TAPCON PFH CONCRET

60744J 1/4 X 2-3/4 TAPCON PFH CONCRET

61102 CONDRIVE 1000 INSTALLATION TOO

62006 TAPCON SCREW KT-1/4 HEX SLOT

Concrete Screw



Bolts
Hex Head

Minerallac Part Number Description

55457USJ 3/8-16 X 3-1/2 GD5 HEX HEAD BOLT USA

55461USJ 3/8-16 X 3-3/4 GD5 HEX HEAD BOLT USA 

55813USJ 1/2-13 X 3/4 GD5 HEX HEAD BOLT USA

55817USJ 1/2-13 X 1 GD5 HEX HEAD BOLT USA

55821USJ 1/2-13 X 1-1/4 GD5 HEX HEAD BOLT USA

55825USJ 1/2-13 X 1-1/2 GD5 HEX HEAD BOLT USA

55829USJ 1/2-13 x 1-3/4 GD5 HEX HEAD BOLT USA

55833USJ 1/2-13 X 2 GD5 HEX HEAD BOLT USA

55837USJ 1/2-13 X 2-1/4 GD5 HEX HEAD BOLT USA

55841USJ 1/2-13 X 2-1/2 GD5 HEX HEAD BOLT USA

55845USJ 1/2-13 X 2-3/4 GD5 HEX HEAD BOLT USA

55849USJ 1/2-13 X 3 GD5 HEX HEAD BOLT USA

55853USJ 1/2-13 X 3-1/4 GD5 HEX HEAD BOLT USA

55857USJ 1/2-13 X 3-1/2 GD5 HHCS ZP HEX HEAD BOLT USA

55851USJ 1/2-13 X 4 GD5 HHCS ZP HEX HEAD BOLT USA

56017USJ 5/8-11 X 1 GD5 HEX HEAD BOLT USA

56021USJ 5/8-11 X 1-1/4 GD5 HEX HEAD BOLT USA

56025USJ 5/8-11 X 1-1/2 GD5 HEX HEAD BOLT USA

56029USJ 5/8-11 X 1-3/4 GD5 HEX HEAD BOLT USA

56033USJ 5/8-11 X 2 GD5 HEX HEAD BOLT USA

56037USJ 5/8-11 X 2-1/4 GD5 HEX HEAD BOLT USA

56041USJ 5/8-11 X 2-1/2 GD5 HEX HEAD BOLT USA

56047USJ 5/8-11 X 2-3/4 GD5 HEX HEAD BOLT USA

56049USJ 5/8-11 X 3 GD5 HEX HEAD BOLT USA

Anchors

Concrete Screw

Drop-In
Minerallac Part Number Description

60402USJ 1/4" STEEL DROPIN ANCHOR

60404USJ 3/8" STEEL DROPIN ANCHOR

60406USJ 1/2" STEEL DROPIN ANCHOR

60408USJ 5/8" STEEL DROPIN ANCHOR

60410USJ 3/4" STEEL DROPIN ANCHOR

Anchors

Wedge
Minerallac Part Number Description

62028USJ 1/4 X 1-3/4 STUD WEDGE ANCHOR 

62036USJ 1/4 X 2-1/4 STUD WEDGE ANCHOR 

62052USJ 1/4 X 3-1/4 STUD WEDGE ANCHOR 

62236USJ 3/8 X 2-1/4 STUD WEDGE ANCHOR 

62244USJ 3/8 X 2-3/4 STUD WEDGE ANCHOR 

62248USJ 3/8 X 3 STUD WEDGE ANCHOR     

62260USJ 3/8 X 3-3/4 STUD WEDGE ANCHOR 

62280US 3/8 X 5 STUD WEDGE ANCHOR     

62298US 3/8 X 7 STUD WEDGE ANCHOR

62444USJ 1/2 X 2-3/4 STUD WEDGE ANCHOR 

62460USJ 1/2 X 3-3/4 STUD WEDGE ANCHOR 

62468USJ 1/2 X 4-1/4 STUD WEDGE ANCHOR 

62488US 1/2 X 5-1/2 STUD WEDGE ANCHOR 

62498US 1/2 X 7 STUD WEDGE ANCHOR     

62656USJ 5/8 X 3-1/2 STUD WEDGE ANCHOR 

62680US 5/8 X 5 STUD WEDGE ANCHOR     

62696US 5/8 X 6 STUD WEDGE ANCHOR     

Screws

Sheet Metal
Minerallac Part Number Description

80606SS410USJ 6x3/8 PHSMS PHIL 410SS

80608SS410USJ 6x1/2 PHSMS PHIL 410SS

80612SS410USJ 6x3/4 PHSMS PHIL 410SS

80616SS410USJ 6x1 PHSMS PHIL 410SS

80806SS410USJ 8x3/8 PHSMS PHIL 410SS

80808SS410USJ 8x1/2 PHSMS PHIL 410SS

80812SS410USJ 8x3/4 PHSMS PHIL 410SS

80816SS410USJ 8x1 PHSMS PHIL 410SS

81008SS410USJ 10X1/2 PHSMS PHIL 410SS

81010SS410USJ 10X5/8 PHSMS PHIL 410SS

81012SS410USJ 10x3/4 PHSMS PHIL 410SS

81016SS410USJ 10x1 PHSMS PHIL 410SS

81020SS410USJ 10X1-1/4 PHSMS PHIL 410SS

81024SS410USJ 10X1-1/2 PHSMS PHIL 410SS



Hangers

Chain & Strap
Minerallac Part Number Description

70016J 1 S HOOKS ZP

70020J 1 1/4 S HOOK ZP

70024J 1-1/2 S HOOKS ZP

70032J 2 S HOOKS ZP

70040J 2-1/2 S HOOKS ZP

70048J 3 S HOOKS ZP

72010 #10 JACK CHAIN ZP - REEL      

72011 #10 JACK CHAIN ZP-BOXED       

72011FT #10 JACK CHAIN ZP-BOXED       

72012 #12 JACK CHAIN ZP - REEL      

72012FT #12 JACK CHAIN ZP - REEL      

72013 #12 JACK CHAIN ZP-BOX (100 FT)

72013FT #12 JACK CHAIN ZP-BOXED       

72014 #14 JACK CHAIN ZP- 200FT REEL 

72015 #14 JACK CHAIN, 100 FT BOXED, 

72016 #16 JACK CHAIN ZP 250 FT REEL 

74002 2/0 TENSO CHAIN ZP-175 FT REEL

74010 1/0 TENSO CHAIN ZP-100 FT REEL

74011 #1 TENSO CHAIN ZP-200 FT REEL 

74013 #3 TENSO CHAIN ZP-200 FT REEL 

74014 #3 TENSO CHAIN ZP - 100 FT BOX

ASK ABOUT USA ITEMS IN 

CERTIFICATE OF 
COMPLIANCE

Available upon request

® 2020 Minerallac Company. All Rights Reserved.


